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GENERAL KNOWLEDGE

Qi Varghese Kurien was named the
Chairman of the National Dairy
Development Board (NDDI) by

{A) Lal Bahadur Shastri
B) Gulzarilai Nanda
Indira Gandhi
(D) V VGiri

Q2 How many parts does the Indian
Constitution currently have?

(A) 15 (B) 20

@ 25 (D) 30

Q3 The Mughal emperor Jahangir built the

Shalimar Garden in :
(B) Baluchistan

(A) Delhi
(C) Oudh K ashmir
g Q4 Theannual Indian Classical music festival
g Sawai Gandharva Bhimsen Mabhotsav is
held in ;
@ Pune (B) Mysuru
(C) Kanpur (D) Udaipur
Q5  Whichamong the following is the oldest
public sector bank in India?
(A) Bank of India
B) Bank of Baroda
@Allahabad Bank
(D) UCO Bank
Q6 Vedic civilisation flourished along the
river 2
(A) Godavari (B) Cauvery
(C) Krishna Saraswati
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Q7  Which internationa| organisation wasg

conceived in July 1944 at the United
Nations Bretton Woods Conference?
(A) World Trade Organization

(B) United Nations International

Children’s Emergency Fund
(UNICEF)
(C) World Bank

International Monetary Fung

Q8 India’s firstengine-less Speed train, Train-
18 was developed by the
Intergral Coach Factory.
(A) Chittaranjan  (B) Patiala

Chennaij (D) Kapurthala

Q9  Indiasigned a $500 million deal with which
country in November 2018 to locally
manufacture two stealth fri gates?

(A) The United States of America
Russia

(C) Israel

(D) Japan

Q10 The Sardar Vallabhbhai Patel National

Police Academy (SVPNPA) is located near

@ Hyderabad  (B) Pune
(C) Bhopal (D) Chandigarh

Q11 The assembly of which Indian state was

dissolved in November 2018?
(A) Himachal Pradesh
@ Jammu and Kashmir
(C) Uttarakhand
(D) Punjdb

Q12 The aorta begins at the top of the ;

(A) right ventricle (B) left ventricle
(C) rightatrium left atrium

Q7 e 1044 ¥ wiggr iz et g T
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T &P
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Ry 2 wE o)
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(C) o=13

Q9 TdaR 2016 I YRA A B @ T D Wy
500 fiferrs <o’ @ Hid TR FRER fy
3, fred wrfd TR R A Wy
Fg—aat o Fmier fear smem?
(A) G T IFABT
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(D) UM
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Q12 W & fif wygwad?
(A) < e (B) amai fad
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Q4

Q15 The best-quality h

Q16 All of the following

Q17 Indian Institute of Technology,

Q18

QI3 Galvanising meuns covering steel with o

thin layerof )
‘ Zinc

(A) Chromium
(C) Aluminium (D) Nickel

C60 is a molecule that consists of 60
carbon atoms, arranged as
(A) 15 pentagons and 18 hexagons
(B) 18 pentagons and 15 hexagons
12 pentagons and 20 hexagons
(D) 20 pentagons and 12 hexagons

ard coal that contains

80% to 95% carbon is
(A) peat (B) lignite

(C) bituminous nthracite

are condensation

polymers EXCEPT

@polyester
polyamide

(B) polypropylene
(D) polycarbonate

Kanpur,

has set up an office in with

alumnus Sanjiv Khosla designated as the
s brand ambassador of the

© (B) London

@ New York
The Physical Efficiency Test for
recruitment of constable civil police by

Uttar Pradesh Police Recruitment and
Promotion Board requires male

oversed
institute.
(A) Dubai

(C) Singapore

candidates to run ;
4.8 km in 25 minutes

(B) 3.8 km'in 25 minutes

(C) 4.8kmin35 minutes

(D) 3.8kmin35 minutes
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Q19 Who was sworn in as the Governor of

Unar Pradesh on 22nd July, 20147
(A) Surya Pratap Shahi
(B) Brijesh Pathak

(C» Ram Naik

(D) Ashutosh Tandon

Q20 Which Uttar Pradesh district is also known

as ‘Pital Nagari’?
(A) Fatehpur
(B) Muzaffarnagar

Mirzapur
Moradabad

Q21 Atthe battle of Bahadurpur in 1658, Shah

Jahan’s second son Shah Shuja was

defeated by Shah Jahan’s grandson .
Murad Baksh

(B) Sulaiman Shikoh

(C) Alam Shah

(D) Bahadur Shah

Q22 Firozabad has been producing

Q23

Q24

for more than 200 years.
(A) chikankari works

glass bangles

(C) brass locks
(D) zardozi embroidery

Which Kathak gharana focuses more on
the spiritual aspects of the dance form?
(A) Jaipur
(B) Banaras

Lucknow
(D) Bareilly

According to Hindu legend, the divine
king Rama of the Ramayana epic reigned
in Ayodhya, the capital of .
(A) Hastinapur
(B) Kuru
C) Kalinga
Kosala
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Q25 Which Indian has won the Nobe]
Memorial Prize in Economics? :
C.V. Raman
(B) Amartya Sen
(C) Kailash Satyarthi
(D) Har Gobind Khorana

Q26 What is the title of the autdbiography
written by Indian boxer M.C. Mary Kom?
(A) Playingto Win
@ Unbreakable
{C) No Holding Back
(D) Imperfect

Q27 Which film won the Best Popular Film
award at the 65 th National Film Awards?
Baahubali 2: The Conclusion
(B) Secret Superstar
(C) Jolly LLB2
(D) Hindi Medium

Q28 The 2018 Nobel Prize for Economic
Sciences was awarded to William D.

Nordhaus and Paul M. Romer, both of

wvhom are from .
((A)) United States of America
B) United Kingdom

(C) Canada *
(D) Austraila

is the fraudulent act

uiring private and sensitive
rd numbers,

Q29
of acq
information, such as creditca

personal identification, and account
usernames and passwords.
(A) Malware (B) Trojan

(C) Hacking Phishing

Q30 TheCh itrakote Falls are situated in which

state of India?
(B) Uttarakhand

A) Jharkhand
@:hhattisgarh (D) Meghalaya

SERIES-D

Q25 [ el 9 arefurres ¥ Ao FmiRas
YIWEER often #7
(A) 1 &) s
(1) ared 99
(C) denar vt
(D) weifams g

Q26 YRS Todere gad, 49 @t gRr ByfER
AT T AMdw wu {7
(A) =R g fas
(B) 3radadt
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Q27 65 ' WA fiFeH qwEERT ¥ fpw e
4 wda Ay fren g WA
(A) TEAH 20 T BfreH
(B) HEhe gTER
(C) ifeh Tergerr 2
(b) f&dr Afggm
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R fafer 21 Aidety Ak diw
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i air Hagada Warl,
ai @@ SwAEd AW AR UES
oI B T SRl ar B ¥
(A) HedHR (B) %o
(C) gfhn (D) fofRim

Q29
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Q31 Capital city of Venezuela is .
(A) Nicosia (B) San Salvador
(C) Quito Caracns

Q32 India has the world's largest reserves of

which of the following radioactive metals?
Uranium (B) Radium
(C) Bismith (D) Thorium

Q33 Name the only island state of Australia.
(A) Capri (B) Ibiza
@ Tasmania (D) Rhodes

Q34 Which of the following cities is NOT
situated on the banks of the Godavari river?
(A) Nashik (B) Navsari
@ Nanded (D) Nizamabad

Q35 Who became the President of India after
the tenure of Neelam Sanjiva Reddy?
(A) Fakhruddin Ali Ahmed
(B) Varahagiri Venkata Giri
(C) Giani Zail Singh
(D) Mohammad Hidayatullah

T0ased

Q36 Name Chandragupta’s son, who reigned
between 298-272 BC and extended the
empire throughtout the whole of India.
(A) Harshavardhan
(B) Aniruddha

@Bindusara

(D) Vasudeva

Q37 The traditional dress worn by the women
of is called Mekhela Chador.

(A) Gujarat (B) Tamil Nadu
(C) Goa @ Assam

Q38 Rabindra Nath Tagore wrote the National
Anthem of which of the following

countries?
(A) China (B) Myanmar
(C) Bhutan @ Bangladesh
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Q39

Q42

Q43

Q44

Q45

The « NIJMI",RI
'T‘ -\"Ilﬂile.' S=digig Numbe lii\-’iﬂih' |
3is l-l‘\'llllk‘ W16 I Mble by
A) 4 T Fing n:muindtr.
(B) ;5
) 6 g
The Square rogy of 6,561 SCaleulayey Th
Dumber ig divideq by its OWn square Too
Find the result l
(A) 3 9
) 27 ™ g
The diameter of a circle jg doubleq_ By
how much g,

X has g balance of 286.54 in the bank
account. What wij be the balance after 5
deposit of ¥5531 ang 4 Withdrawal of
T84.33 gre made?

(A) %5752 358.52

(C) T57.58 (D) 358.58

A number is multiplied by 3,003 and then
divided by the LCM of 7,11 and 13 anq
then divided by itself. Find the result,
(A) 1 (B) 2

©) 3 4

[F(10x +5) : (42x + 8) is the triplicate ratio
for S : 8, find x°.

(A) 1,000 1,33 ;

() 1,728 (D) 2,19

Find a quarter of 40% of the square of 40.
(A) 120 (B) 140

@160 (D) 180

i N ——

CALABILITY

3913 9 fnpfie & arey LiC T

S @ g g R Fay :;T“?:r
Q‘W)va A &Y
() 4 (B) 5
il ) 8
Q4p e,sm-q\,%ﬁmm '
¥ wa
mmﬁ ot R G 2
|
(A) 3 .
Q41 ey N P oy o T foar -
BRI - % e
©) 81 (D) 16 1y
Q2 X3 %5 G ¥ 286,54 W R, 2553
S F ally ¥84.33 3 ey # e
¥R T e
P52 () w5y
(C) 35758 (D) 258 5
3t e o 3003 ¥ o1 Ry ey e
SHE T T 7, 14 ¥R 13 B g
ST e Renforr R e v
T R v ) R
Cad
(A) 1 (B) 2
€3 (D) 4
Q44 AR (10x+5): (42x+8), 5 : 83 R
U &, T X T B
(A) 1,000 (B) 1,331
(©) 1,728 (D) 2,197
Q45 40T T T 40% BT IRITE 9T T |
(A) 120 (B) 140
) 160 (D) 180
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Q46 Ifthe selling price istripled, the profit gocs
up ta 5 times, Find the profit.

(A) 80% 100%
(C) 125% (D) 150%

Q47 X buys a scooter for ¥42,000. He spends
¥6.000 on repairs and sells the scooter for

T54,000. What is his gain?

(A) 10% 12.5%
(©) 15% (D) 17.5%

Q48 An-irticle <osting T110@ was sold for
T104.5. How much discount was offered?

(A) 4% @) 5%
©) 6% (D) 7%

Q49 A sum of money invested at compound
interest amounts to T1,600 in 2 years and
1,680 in 3 years. Find the rate of interest.

5%
(B) 6%
(©) 5.5%
(D) 6.5%

204864

Q50 How much will 25,000 invested at

compound interest amount to in | year at

4% per annum compounded half yearly?
(A)-%25,980 (B) 26,010
@?26,10{] (D) ¥26,001

- Q51 A began a business with 275,000, B joins
-+ after sometime with ¥37,500. After how

""" " many months did B join ifthe profits are
shared in the ratio of 3 : | at the end of
the year?

(A) 4 B 5

@ 6 (D) 7

Q52 The marks of a student were entered as
88 instead of 68. Due to this, the average
marks of the class increased by 0.5. What
is the number of students in the class?
(A) 10 ‘B) 20
@ 30 (D) 40

Q46 afd fagh e = e fear s, o om
& A1 BY GIren & | A s N |
(A) 80% (B) 100%
©) 125% (D) 150%

Q47 X.T 42,000 H U WHeY WAST 8 | T6
HYRA OY 26,000 @E BT € IR Fhe
®r 754,000 7 d=am 8 | IHDT SN F4T

.14
(A) 10% @ 12.5%
(©) 15% (D) 17.5%

Q48 110 &Ta archt o avg T104.5 # &)
TE | faert B 1 g e
(A) 4% ) 5%
©) 6% (D) 7%

Q49 =epglg = oR fAdw fHy g v A

R 2 a9t 7 1,600 3R 3. 96T § 31,680
8 g 2| &= 8 I Y

X)) 5% i

(B) 6%

(C) 5.5%

(D) 6.5%

Q50 g @ uy PR 725,000 B TR

1 a9 F s 4% wfy af @ sv A
JeP fbart &1 wer @ )

(A) 725,980 (B) 226,010

(C) 226,100 (D) 226,001

Q51-A 7 %75,000 & WRT Uh BRIER Y%
a1 | BEY W9 @ 412 237,000 B |RY
EH i gon | af af S e A 3 1
 IUTe ¥ AT TS faar Siar & & B
f #89 are wnfier gam o
(A) 4 (B) 5
© 6 (D) 7

Q52 P BTH & 3d 68 D IO 88 B w7
< RBU.C o | g9 ey, e & it
3P 0.5 § I T | BEN ¥ BT} 2 HeAT

T 8?
(A) 10 (B) 20
() 30 (D) 40
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Q53 Adistwiceas efficient as B, who is thrice

Q54

Q55

Q56 The

Q57

(Al

as efficient as C. If C alone can complete
the task in 30 days, then in how many days
n they together complete the task?
3 (B) 4
©) 5 D) 6

An acroplane covers a certain distance at
a speed of 250 km/h in 4 hours. To cover
the same distance in 1 hour and 40
minutes, what should be its speed?

(A) 500 km/h (B) 550 km/h
@ 600 kmv/h (D) 675 km/Mh

Excluding stoppages, a bus covers 45km
in an hour, and including stoppages, it
covers 36 km. For how many minutes does
the bus stop in an hour?

(A) 10 (B) 10.8 -

@ 12 (D) 12.5

ratio of the length and breadth of 3
d its area is 6,750 cm’

rectangleis 5: 6 an
length to the area of

Find the ratio of the

the rectangle. -
(A) 1:80 - (B) 1:84
(C) 1:100 ®l=90 |

roduct of the sum of digits ef
umber divisibleby 11
digits of smallest 4-

Find the p
the smallest 4-digitn
and the sum of the
digit number divisible by 13.
(B) 2
(D)6

@4

Q53

Q54

A.B @ g1 quia 8, 3 B,C ¥ Rrpw
aua 8| ufe vy C W @ 30 fEet A
T Y WA B, N A qa e e
;:"W?ﬁ'lf&mﬁﬁ!ﬁﬁ{ﬂmm

a3 ®) 4
©) 5 (D) 6
Waﬂm:sommﬂmﬁq

o ¥ v Piftad o oa T §11 W
w0 e 4 I G0 B T T B
SHE Y @ B aTfee?

(A) 509km/h,-.+,-.(B) S5Qkm/h -

M 600 km/h - .+, (D) -675 km/h
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Q56
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Q58 Which of the following series is built on

the same logic as :

GLK, MO
X.Z B,D,F (B) X.Y.B.D, E

(C) PS.U,V.W (D) K, L. N, Q.S

Q59 Fill the missing value in this series:
AIC, E4H, I9M, M16R,
A) 125K (B) Q25W
M36J] (D) Q36X

Q60 Which pair in the options will complete
the following series:

A F K, 1,
(A) QY B) QZ
(COBRY (D) P,Z

Four friends live in a locality. A’s house is
to the west of B. B’s house is to the south
of C and C’s house is to the east of D. In
which direction is B’s house as to D?
(A) North-East  (B) South-East

(C) North-West (D) South-West

Q61

20aseq

Y walked 6 m west, turned right and
walked 8 m. What is the shortest distance
he needs to travel to go back to his starting

Q62

point?
(A) 6m
(C) 14m

Village A is to the west of Village B which
is to the south of Village C which is to the
west of Village D. In what direction is
illage A as to Village D?
@' North-East  (B) South-East
(C) North-West (D) South-West

Q63

Q64 X walked 15 m south, turned left 15 m
and turned left and walked for 15 m. How
far and in which direction is he from the
starting position?
(A) 15m north
(C) 15m south

15m east
(D) 15m west
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frg e el 3 A P A FEAT B
ad Py sjegen & aa & A 87

G LK MO
(A) X, Z.B,D,F (B) X,Y,B,D,E

“(C) PS. U, V,W (D) K,L,N,Q,8

Q39

Qo2

Q63

Q64

$a sen # @ A 9 B
AIC, E4H, I9M, MI6R,

(A) 125K (B) Q25W

(C) M36l (D) Q36X

51 forareat 3 T g (TR s5aer
P R HIM?

A, F K, U,

(A) QY B) QZ

(C)PY @ PZ

AR Ve T 5D ¥ WA & | ABTER B
& uf¥em § & B ER C <feor 7 3R

CHERDD qd # & | DA BFT IR &4
ferem % 27
(8) sRw—qd

(A) Swi—9d
(C) Sav—uf¥mm (D) =féor—ufas

Y, 6 m 9= #F =@, I ger R At

8§ m I A gor g W amw
AN @ fou Swd! AT B @ Had

BT ¢t T 87
(A) 6m (B) 8m
(C) 14m (29 10m

Tiq A, Tid B& 9R=m # €, o Tia C P
TRETH 2, S M DD 4f¥aq H g | g
D& umer ma A fea e 7 8?2

(A) se-gd  (B) e

(C) Sar—9fe® (D) <féor—ufem

X, 15 km &féor & =, amg ger AR 15
mﬁﬂTWﬂT@ﬂ@_Taﬁ?mISmﬂl
a@gﬁaﬁﬁﬁuﬁﬁﬁmﬁ’rqvaﬁ?ﬁm

fewm § &7
(A) 15SmSeR  (B) 15mqd
(C) 15mefor (D) I15m yf¥=m
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Q65

In the question one statement is given,
followed by two conclusions- 1 and I1.
You have to consider the sttement to be
true even if it seeMS 10 be atvariance from
commonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given statements.

Statement | @ No country is absolutely
self-dependent these days.

Conclusion I: It is impossible to grow and
produce all that a country needs.
Conclusion 1I: Countrymen in general
have become lazy.
(A) Only conclusion 1 follows
(B) Only conclusion II follows
(C) BothIand II follow

@Neither I nor II follows

Q66 In the question one statement is given, -

followed by two arguments, 1 and 2. You
have to consider the statement to be true
even if it seems 10 be at variance from
commonly known facts. You have to
decide which of the given arguments, if
n statements.

any, supports the give
Statement : Should new big industries be
started in Delhi?

Arguments I: No., it willadd to thecity’s
pollution

Arguments 2: Yes, it will provide

n employment opportunities.

(A) Only arguments 1 is strong
(B) Only arguments 2 is strong
(C)Both arguments | and 2 are strong
(D) Neither arguments | nor 2 is strong

SERIES-D

Q05

Q66

gt N U et SN S qTE A fred,
[ afe 11y oy ) s &6 39 o
A MEE B, v By as A R W
giier cealf @ st wder Gar B 1P
aw au & & fag mq Pt # &
Fyrar Propd, aft @ 8, f&g g T

ﬁwﬁu:m'enquavmrﬁ

Ty &
(A)Wﬁﬁﬁélaﬁﬂ'\'ﬂmg
(B]a?aaﬁfﬁﬁnaaﬂwm%
{C)laﬂvllﬁajmﬂm%
(D)aa“rlamaﬁnaamﬂm%

7z @ oo & & R g @t A 9
ﬁwaﬁ,zxﬁ:ﬁétmwmﬂw

Wm%l

mm:wﬁﬁﬁwﬁmﬁﬁ
fape o aTfRe?

1o, g W T
BT

aﬁz:a‘,uﬁma%mw

SET-02



I

Q67 w1 A QY wuw 3N I arg N oy,

Q67 In the question two statements are given,
LAt 111 Ry g B onumt 56 duaw

followed by three conclusions, 1, 1l and

1. You have to consider the statement to oY ¥y JEE Y, v € g% A AR

be true even if it seems to be ot varinnce uv g oedt @ oaran ydve gvem w)
ST A€ Ty R & Ay MY Preet

from commonly known facts. You have to
decide which of the given conclusions, if
any, supports the given statements.

A A T Prepd, o o ¢, Ry g
FUT BT HTHROT HREAT & |

DU 1° BE AAIF FAE 2 8
AfoTer Ot wael ¥ ferg ¥
P 2: A RN 9w A 3 W E oy

Statement |: Many business offices are
locared in buildings havmg 2to 8 floors.
Statement 2 : If a bpilding has more than

Jﬂw‘s.lthasahﬁ gad foge g”h 2
Conclusion I: All floors maybe reached by e I: et w5t W foreel gy ggaT
lifts. 3 T |Par B
Conclusion II: Only floors above the 3rd frepd I : dga Dol Wl 3 s
floors have lifts arel! Hforet § forge &)
i oy 111 : 7 & wfraT ¥ fie &)

Conclusion III: 7th floors have lifts.
(A) Only conclusion I follows
@ Only conclusion II follows
(C) Only conclusion 1. folfows

(D) All3 follow

(A) BT Frepd 1 arqaror e &
(B) Padt fAsp 11 AIR0T e &
(C) daer Fsepd 111 IRor v &
(D) T aTERT Py @

“FLAMBOYANT” 9I% & 3I&RY §RT

Q68 Whlch of the words CANNOT be formed Q68
W 9= BT TS TE A @7 Hepar &7

by "the lctte_l‘s_ _of the word

“FLAMBOYANT”? | (A) Lamb (BY Bout
(A) Lamb Bout | (C) Moan (D) Boat
(C) Moan . (D) Boat
Q69 .“Which of the following words has its letters” Q69 - famfeiRen o=l ¥ ¥ v o & 3
il qufsre TR §?

in an alphabetical order? '
(A) Shade * (B) Heart
Billow (D) Charge

(A) Shade . (B) Heart
(©) Billow (D) Charge

Q70 fiw Y faseai ¥ W wafda v gRv|

70 Select the related word from the given
févor : 7 BT ¢ Hier: ?

alternatives.

Deer : Fawn :: Horse : ? (A AT (B) Iwe1
@b @) Foul © s (D) T
(C) Calf “(D) Toad
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20as6d

Each .one crfthe following options consists
of pairs of words. Choose the best pair to
match with the pair in the question.
Run : Walk
(A) Heavy Rain: Drizzle
(B) Jog : Run
(C) Dive: Swim
Bounce : Gallop

Q71

Select the related letters from the given
alternatives.
EH:VS: :MJ:?
(A) OQ

() M

07':"

(B) NR
QL
Find the alternative that can be a member

of the given group/class.

Lock, Block, Fasten

(A) Open (B) Window
(C) Shut _ () Door

Q74 Find the missirig Number:
1,4,27,256, __

3,125 _
) 720

Q75 Find the missing
the series and find the value

Q73

(B) 625
(D) 2,500

pumbers (X and Y) in
of Y+X:

20, 22, 24, 26, X, 32, 36,Y
(A) 62 (B) 64
(C) 66 @ 68

Q76 F ind the pair of the numbers that would

fit into the pattern: ; )

9
[1,121,1331,1464L°
(A) 16105! wmig
(C) 160051 (D) 1600

-+ b
.

Q71 Pvatatima freen 4 o - —

and Ry vy B ouwa 4 fry g

i_;;‘{“q A & & fuy wah :u:"?m:‘
HOTAT © AN

&) Y ast = Tid)

(B) W : =
(C)‘flﬂm:'aw
(P;m:m

Q72 iy wy R A ¥ WA Al =
o e :
EH:V-S::MJ:'?'.P_' e o
(A) OQ “Y(B) NR
© QM D) NQ

Q73 Su Rew B W W ot fre Y
W/ﬂﬁﬁlma’n
aTen, s, FE A

@y - B Rasdht
© ¥ ®) &K
Q74 @ wEA am o
1,4,27,256,
(M) 3125 (B) 625 '
(C) 7120 (D) 2,500

.q@mﬁqﬁ'ﬂ@ﬂ_o{aﬁ!‘-{}ﬁ]ﬁﬁi
alR Y+X @1 JF g =
20,22, 24, 26, %,32,36.Y

Q75

(A) 62 (B) 64
(C) 66 D) 68
Q76 -ﬂ@ﬂﬁaﬁa‘ﬂﬁlﬁﬁrﬁaﬁﬂ‘lﬁﬁﬁ-u

Iqgad :
11,121, 1331, 146 41,7
(A) 161 051 | ‘(B) 161 050

(C) 160051 (D) 160050

.k
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Mental Aptitude, Q& Reasnning Ability

Q77 A series is 8iven, with one term missing, Q77 @A 7 o HUF vz I 2 fag
Choose the correct Option from the given ey 3§ g IRy ~

ones that will complete the serjes, P g e gy P P o
ZBA, YDcC, XFE, WHG, Vi, ? ZBA, YDC, XFE, WHG, Vi, ?
(A) KLU (B) HI (A) KLU (B) HIJ
(C) URS @ ULK (C) URS (B) ULK
Q78 A series is given, with one term missing, Q78 & W oy 3 U ue gar &) fay o
Choose the correct Option from the given fweat 4 @ SRt ey 9T S oy

ones that will complete the serjes. Y 907 e &Y

EEEEEFFFFF, FEEEEF‘FFFE, EEEEEFFFFF, FEEEEFFFFE,
FFEEEFFFEE, FFFEEFFEEE FFEEEFFFEE, FFFEEFFERE

FFFFEFEEEE, 7 FFFFEFEEEE,
(A) FFFFEEEE () EFFFFEEEEF (A) FFFFEEEE (B) EFFFFEEEEF
FFFFFEEEEE (D) FFFEFEFEEE ®) FFFFFEEEEE (D) FFFEFEFEEE
Q79 Aseries is given, with one number missing, Q79 =1 ¢ v ¥ v wvey g9 81 Ry g
Choose the correct option from the given faweet 3 @ Sfem fawsy T S S
ones that will complete the series. 1 qOF v g
-4.5, -2.6, -0. 7,7,3.1 -4.5,-2.6,-0.7,7, 3.1
(A) 1.4 @ 12 ) 14 {BY 12
3 ©) 1 ) 1.6 ©) 1 (D) 1.6
g
b=
® Q80 Ifthe 4th day ofa month is Sunday, which Q80 e ot % &1 e Ry <fyaw 2
of the following would be the 6th day o e F @ ar R oy TE
before the 30th day of that month? & N 29 & v o waT fos g
(A) Sunday (B) Tuesday (A) Wfaar (B) #Terar
© Saturday (D) Friday (G Zrtyam (D) Zgpar
Q81 A series is given, with one term missing. Q81 Uw foff & ’Ea; 8, Rt wor 0% q &
Choose the correct option from the given 13T 9 Rl ¥ % sf R b
ones that will complete the series. i} T’i N |
A1Z1, X3C3, E3V4, T9G7, ? A1Z1, X3C3, E3V4, T9G7, ?
: ’ (A) H20R11 (B) I127R11
(A) H20R11 (B) 27RI1 D) H20512
@) 127512 (D) H20S12 (C) 127812 (D)

fpeiY & mar 7 817 1 apef @ “cotton

x s ‘cotton Q82 :
Q82 In a code language, 817 mean makes thread’, 827 @1 et & ‘thread

makes thread’, 827 means ‘thread makes , e
cloth’ and 213 means “soft cotton cloth’. makes cloth’ af’rv ,2 a; 3 fg;r o
Find the code for ‘soft’, cotton cloth’. “soft 7

{ 3 (B) 1
(A) 3 B) 1 )
2 (D) 7 () 2 (D) 7



,
certain code. § OB i
4 - L 15w
FATE is Wrilten i
T written in thag Y
N

\ 7539
3728

us 4379
as 268/s. How

ode?
(B) 5626
() 2091

is

084 |f‘||-'| a ricnnili code language, *+*
"x =T represents f+0 -, répresents * 4 °

and * + " represents *-*. Find out the answer
to the following question.

] 16 +8x4-2+1=9

[ =k (B) 27
(S:) 16

(D) 13
Q85 If HOLIDAY is doded as ELIFAXYV, then

represents

@

~ how will SUM be coded as?
PRJ (B) EHK
/- (C) LOR (D) SVY

——

Q86 If A @ B means A is the son of
B, A# B means A is the brother of B and if
A * B means A is the mother of B, then
what does X #Y @ Z * W mean, if Z has
2 sons and one daughter?

W is the sister of X

(B) W is the brother of X
(C) W isthesonof X

(D) W is the daughter of X

0ased

If P % Q means P is the father of Q,P1Q
means P is the sister Q and P * Q means P
is the daughter of Q, then which of the
following shows that P is the husband of
S's sister?
(A) P*Q%R!S(B) P%Q!R*S
©) P*Q!R%S@ P% Q*R!S

Q87

K said to L, “You are my husband’s son-
in-law’s daughter.” How is Lrelated to K?
L is the granddaughter of K
(B) L is the daughter of K
(C) Listhe son-in-law of K
(D) L isthe father of K

Q88

SERIES-D

QB3 ) fadn @z % SLOB @ 4379 fern
G B O PATE ¥ 2685 foran v
B U we A LOFT $N feren Swem?
(A) 7539 (B) 5626
L) 3728 (D) 2091

Q84 f) fadiw g v # +', ¢ " F UFA
FRAT B, -7, B RS AT B,
Cot T AR FR 2 afR ., W
W A @ | Prefalaa e 1 I

SIRT DY |

16 :8x4-2+1=27
(A) 22 (B) 27
©y 16 (D) 13

Q85 af® HOLIDAY & ELIFAXV & ¥4 H
weag fear s @, 1 SUM @ E
Heag fHar A
LAY PRI (B) EHK
(C) LOR (D) SVY

Q86 afX A@B a1 ¥ 5 A, BHFITE,
AHBF ot # 5 A, BPI R B AR
* R A*BTIAd R ABRAARM
X4v@z*wor g a2 alk 2D 2
2 3ix g @& B?
A5 WX & 984 §
(B) W, X &1 W B
©) WX A&
(D) W, X & g3 &
Q87 P% O & a2 B P Q® R #
pi1Qwr aef & f5 P,QaY wE ® AR
p*Q@ anf & f5 P,Q# A B
RrfarRaa # & o 39 & f5 B,S @
g8q ®1 ufar 87
(A) P*Q%R!S(B) P%Q!R*S
(C)P*Q!R“/GS({ﬁ P% Q*R!'S

K3 L& @6l b, ga RO & T

& 38 A" LK X et e e ¥
L, K e R

(B) LK # A ®

(C) L, K &1 TE 8

(D) L,K @ far &

Q88

T-02
17 SE



Q83 Inacertain code, s
and FATE sy,
LOFT written i g,

B 18 wr i 43 79
ttcn it
: £4]
ten as 2 18-‘. Ilm\r .\
f Iy

(A) 7539 4 codey
@ 3728 (B) 5626
(D) 209,

084 Ifinacentain code langyg
g, et representg g0 .
and * + " representg F
to the ﬁrllnwing questi

} o A=y

B.‘:, Sgr I'epremm.s
. rcpl‘csents i

ind gy th
€ ans
on. swer

(A) 22 ®) 27

O (D) 13

Q@85 IFHOLIDAY is coded as ELIFAXV
how will SUM be codeq as? e

PRJ
(B) EH
() LOR D) SV';

Q86 If_A @ B means A is the son of
g B, A# B means A is the brother of B and if
g A * B means A is the mother of B, then
whatdoes X # Y @ Z * W mean, if Z has
2 sons and one daughter?
W is the sister of X
(B) W is the brother of X
(C) WisthesonofX
(D) W is the daughter of X

Q87 IfP % QmeansP is the fatherof Q, P! Q
means P is the sister Q and P * Q means P
is the daughter of Q, then which of the
following shows that P is the husband of

S’s sister?
(A) P*Q%R!S (B) P%Q'!R*S

©) P*Q!R%S@ P% Q*R!S

o L] 2
«you are my Husband’s son

id to L,
falic »How is L related to K?

in-law’s daughter.

QB3

Q84

Qss

Q86

Q87

Q88

v—

el R gz 9, SLOB @ 4379 T
SIRN & ol FATE B 2685 foran S
1 g0 ae A LOFT S@ Rran TP
(A) 7539 (B) 5626
AL 3728 (D) 2091

il R e s o o+, " @) SR
AT a, ‘_“ ‘+’Z|-ﬁ -H—Qgﬁ Tl -a' e 3
q.-:-’?i‘fw Eaai] -% e Ikd t+!‘|_'-im
U HYa ¥ | Frefafaa g &1 9 R
TR FY |

16 +3>¢4_2+].=?

e @ 27

£ 16 (D) 13

af¢ HOLIDAY #' ELIFAXV & w9 ¥
Feag B o &, @ SUM @ 39
aEag b smem?

JATPRJ (B) EHK

{C) LOR (D) SVY

ot A@BwTad & f5 A, BET AT R,
AsBaT el & fp A, BaTWE ¥ AR
R A*BH S 5 A, BH A,
XtY@Z*Waramad 2 ARk 23 2
¥ 3R 1w o R?
S W, X we R
(B) W, X #1 1§ 8
(C WX®IA 2
(D) W, X I &

P%Qm af 3 f5 Qo A &
P1Qa ¥ & f5 P,Q & a& 8 3iY
prQar i ¥ f5 BQA T B
Prfafas & & oo <ufar @ 5 B,S A
agq & ufa &7

(A) P*Q%R!S (B) P%Q!R*S
) P*QIR%S @) P% Q*R!S

K3 L2 we &, g 3 iy @ T
zﬁrﬂé’fa‘u"L,Kﬁﬁ»—ﬂmmﬁa%?

L, K 7fa #

L is the granddaughter of K ®) LK@ e
(B) L is the daughter of K ©) LK @ mﬂlﬂ;
ig-law of K ©) L.K &1 foen

(C) Lis the son-

(D) Listhe father of K o

17
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(A)CIOD (B)
@09 » ©

Q91 A lady participated a six-month

programme to lose weight. She weighed

100 kg before starting the programme. The

line graph shows her weight in kg at the

end of each month. In how many months

did she gain weight instead of losing as
compared to the previous month?

20assd

s
2 7. » ' n B
& &0
5a
i 0
1}
or ” T 5 T ] 4 5 ! ¢ ¥
End of menth
(A) 1 (B) 3

@2 (D) 4

SERIES-D

18

L Wﬁ%ﬂmﬁﬁw

Q91

———y

P BT g p |

. 5 oy

2, 45t el 331 Wmﬂag kil
foxma o) qurlerr ¢ SN B By
e/ bt g G o1 Rl oy ??ﬁ:'rr

1§ \l[] "'{IH“l'—Mi:ﬂ g.}

(A) E
(B) BF
© B (Prcr

ﬁf“lﬁvﬁi‘qﬁﬁﬁﬂﬂ:{?ﬂﬁﬂaw@%

NEPI S IR aepfat 3 g o
Waﬁmﬁmwmg? S

@
“@D e

U% ARl 5 avH &4 &% B Ry v
HEH & U W A W R 2 v
I BT § URA THPT a9 100 kg
ml%@mﬁauﬁm%ﬁﬁﬂ%dﬁﬁkg
i SHD ao BT R 21 Red 78y
B AT H fra T # v T
TH EF & g 9T 87

(A) | (B) 3
(C) 2 (D) 4



e N, of
i ere dayg o
i visimrs on
® Numbe, of

W

hours ang ltem B takes
Prepared using g
machine.

Drilling time for |
drilling time for |

E Turning
Milling

lathe

tem A jg less than the
%
N

em B by

0assd

17% HM%
25%
(A) 25 (B) 66.67
(C) 39.39 (D) 100

Q94 Which word does NOT belong with the

others?
Sleep
A) Run .
EC; Jog (D) Walk

iven
Q95 Find the odd letters from the gi

alternatives. -
. (B) E
D LKM
:“II{(G (D) SRQ

SERIES-D

@ Rfe A 3 @
QU2 AR AR W @ ﬁﬁ‘r;n -
dyeran A arigel @ dern feare
2| ufrar & arigal 1 s gﬂﬂ%
& ArgEt A W A
F1 o)

(A) 300

(B) 200
®y 60

(D) 50

3 T w9 S ave amgen A
v TR R A 12 6 A ¥ iR angen
BISEI%%%|M ”

T snged B T o aw Ry
TR %A mw

(A) 25
(€) 3939

(B) 66.67
(D) 100

o e B

4 DN W TG 99 e

v (A) e (B W
(C) Wi (D) =&

fag mu faeedt # @ R a9
v ) LKM (B) EDC
’tg) THG (D) SRQ

- SET-02
19
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Q96  Choose the figure which is different from

the rest.
SHONS (ONC NS
@ [0S Dy (D0 O
SHONC] (ONCNT]
Yo O Do
©[°88w[@0o
D6 O ©oeo

Q97 Choose the figure which is different from
the rest.

.(A)

H
N
o

® -0

Y
X
Z

(B)

XT2Z
NQSs
©

Hy of®

alternatives.
Gun : Bullets :: Torch : ?

(A) Fire

Batteries
(C) Darkness

(D) Candle

Z N X
Cwo

¥
H
J

Qs x|
Y ON
| HZ

Q98 Select the related word from the given

Q99 Select the related number from the given

alternatives.

125.3:5::14641.4:7

(A) 11
®B)6
©) 4
(D) 14

SFERIES-D

Q9% TH HRY B T WY g anpfadl |

3T 8|
e 0o ®ee
© 0 e (ONSHS]
coo| [0ooe
e e o (ORON=
(C’memﬁmeee
Q97 Y Gl @Y g it 0l P ¥
AT B
HQ Y XQy
{A)NIX(B)ZSH
0OSs z NOII
XT2Z Qs X
© NQS(D)YON
HY O | H Z

Q98 fRy WU fAmetl & waft g &1 g

Eadl

gD @ A =TT ;7
(A) 3T

(B) ¥4

(C) PR
(D)Wﬁﬁ

Q99 fAv WY fadedt & wWafta wear g7

1253:5:: 146414 : 9
(A) 11
(B) 6
©) 4
(D) 14

SET-02
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Q100 From the pj _
Biven unsw:.._r figures, select the
scribedded, question figure is hidden/

one in which the

5
XK
X

>

2

%
K

e
XX
7 AAN

(D)

Q101 Which answer figure will complete the

pattern in the question figure?

/ﬂ'

(=] =

SERIES-D

(D)

0]
&
©

b

21

Q100 & ¢ Iar Pt § d, I @ oI
go P orm e angfa Figa 2

(D)~

Q101 3 ¥ SR ARy W mphy ¥ v
3 @ AR

)
el

L

SET-02
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Q102 Which of the following answer figure
patterns can be combined to make the
question figure?

FoEgm

w B EH

Q103 Which of the following cubes in the

answer figure CANNOT be made on the
basis of the unfolded cube in the question

figure?

3
%'-_ O

%

S’
| ——
re—

O

Read the following information to
answer the given (Q104 to Q106)

questions.
Following are the conditions for becoming

a judge in a singing contest TV show.
A) The person should have won at least

one award in singing or music.

B) The person should have worked in

the music industry for at least 10 years.

SERIES-D

22

Q102 Fr=ifeifa A A P & SR HHR B
Yt @Y wwr anpfy wa & frg S

I e 87

]

(A)Bjaj"_"r_‘a

® B, H - H
o BE BB

o1 |
(D) H o i

Q103 Sk ATpfey # frw | BT wE PR A
P BY BT B AMR W A8 IEm Wl

HepaT &7
]
l='; oFH
TR
>
@ 21*10] @ 1':?
=
© |0 Hlo )

fau v (Q104 & Q106) WAl T IwX

Y B fav freafafaa aFer eyl
T @ giadifar & & &) @ & 9
g9+ gq fFr=faRed s 81
A) g g1 |y § 79 9 A
U JNEAR I 811
B) @i A i & &3 & oA | P
10 9¥ TP B AT B

SET-02
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@ The person s
e

W least 3 lang\mgux
D) The Person sl.
f;lnnatc at lengy 10
INCOME 10 the ¢y
E) The person sj

hould be able 1o speak

ould he willing to

R
% of hig/her annual
S winner.,

ould NOT

bC: ¥
d neithey pe 2 MR

older than

However, in case .
h cand

other criteria EXCEP?.B& who fulfils al)

1) Babove; ifthe

this criteria then F[J‘l_il‘san d,OESNOT fulfil
kept on hold,

2) Dabove; ifthe

'_;._)l E efbmr.e; ilfthe person does NOT full
il th|§ cmen_a but fulfils all other criteria
then his application will be kept on hold,

Basefj on these criteria and information
provided below, decide the course of

action in each case. You are NOT to
assume anything,

Q104 Person A is 40 years old and is willing to

donate 10% of his annual income to the
contest winner. He has won 3 awards in
his 15 years of experience in the music
industry and can speak in Hindi and
English only.

(A) Made a judge

(B)) NOT made a judge
) Application kept on hold

(D) Data inadequate

Q105 Person B is willing to donate 5% of his

annual income to fhe contest winner. He
has worked in the music industry for 30

years since he entered it in his teenage

"days. He can speak in Hindi, Englishc,l
.Tamil and his mother tonguc. He ha

ief i 6
donated I7 1akh for flood relief in 201

i h.
when his annual income was 212 lak!

"(A) Made ajudge

judge
B) NOT made a4
EC; Application kept on hold

@Data inadequate

SFRIES-D

23

C‘t] eifdet @) @9 QO @ g il s
di |

D) afdk ¢ aig aiffes airg @1 %9 4|
$1 10% wfeenfoar & faven &1 29 &
fore aom g wifde

E) afe @1 amg 35 ad 1 &4 3w 70
9§ 9 arfts & B =R

BIelifeh, ISP BISH If¢ BE IHigan
= i wrEet Y gl R R

1) B W, afe aafd 39 ares! &I
qof & @var & of 99D AR I R
& fore < Sre

2) D ST gfe @fded =1 99 S
#oE IR 4 s afdd A w1 50%
T A RIr g A 99 39 o R g D
ST | '

3) E SWiww; afy =afdd 391 o & qf
T GO § oy o W I @ o
AT & T I e faw & f
TG T |

R Ty g7 wmEel 3 s @
MR W IS "iel H drididl @f Ffa

&) M g N A s W HA AR
|

Q104 afaw A, 40 af @1 &, ae uivdfar &

fasw @ are affie ama @1 10% <=
AT TARAT & I=E whw Sam W
I 15 a9 B I H 3 REPR I
AR Saa fE &l ol 4 A wha ¥
LK) SO TR WY

(B] T F T WY

(C) 3mdes W =R v =g

(D) 3fipe waid &

Q105 aifdd B @ i o favin &t sl

i T B 5% T F Dl THSD § |
TR 3 el # Wit Sem
Y D 98 A 3 30 9Nl OB I
frn | 7% R, e, afa AR ST
Wﬁmﬂmmﬁ%lﬁﬂm&ﬁ
= 16 e & farg 37 @R T R
o 9 S i o 212 e R
(A) IS ETET WY

(B) W 7 ¥FRT WX )

SET-02
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Q106 Person C has won 5 awards in her 25 years
of experience in the music industry. She

had donated her entire annual income in
2017 for earthquake relief. She is fluent
in English, French and Hindi.

Made a judge
(B) NOT made a judge
(C) Application kept on hold
(D) Data inadequate

Q107 Which of the following answer figure
patterns can complete the series given in

the question figure?

Pols™ ] anl
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(A) 19 ‘
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Q106 &afdt C =1 Wi ST # arga 25 987 &
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STl §491G1 WY

(B) W1 9 99141 SIT¢
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Q107 fr=fafaa # & T MW IR AP 3
o<l g sl § ) TS HE@e B gy

P Hepar 87

F '5’ 1

| @ |18 ol
QR @]

(A) (B)

D)

©
@ &
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Q108 Which of the following answer figure
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Q109 Wha.t is the minimum number of lines Q109 & ¢ B @ @ fory g e
required to make the given image? TR H TR 27

(A) 12 (B) 15 (A) 12 (B) 15
© 14 QF (©) 14 RE

Q110 If:'mirror ' Placed on the line MN, then Q110 4 w21 %) ear MN W a1 a1 &,
Wlch of the answer figures is the right o B I iy & ¢ amphr Ay
MiTror image of the given figure? Wl sfy ¥?
e e =
Q

A4

| A=) |

QU1 A piece of paper is folded and punched as QI ¥¥ Ipfa % Hr Ramw ITER Y®X B
shown below in the question fi gures. From

TS T o IR = R e 2 &
the given answer figures, indicate how it TS IaR sl @, e = e
will appear when opened. W W R g8 Rearg 2y
S ARO, ° 4ah o
4 N | xY
< 7| (B) (N v
AN o W7 o
°An® °an°
S b4
< v

© goﬂl?o" &) o VP o
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Q112 Arrange the following words as per their
order in an English dictionary and choose
the one that comes first.
refocus; refinery; reflexes; reflector

(A) refocus refinery
(C) reflector (D) rcﬂ.exes

Q113 A series is given, with one word missing.
Choose the correct option from the given

ones that will complete the series.
Terrain, Intuitive, Venture, Rearrange, ?

(A) Gender @B))Virtual
(C) Strategy (D) Suspense

Q112 Fr=afafed o=t & AW T=HT B
FATAR ¥ 3R I9 W= BT g o
HEY sl YT
refocus; refinery; reflexes; reflector
(A) refocus (B) refinery
(C) reflector (D) reflexes

Q113 € 7 Aoft A v wes g 21 Ry g
frpedt # @ Sfra Reed geT o Ao
Y quF Fwel 8|
Terrain, Intuitive, Venture, Rearrange, ?
(A) Gender (B) Virtual
(C) Strategy (D) Suspense
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(B) g4+
(D) &Rt
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(A) gt Cka
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